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I W e e e L
EXiE 446 6 300 320 of 1072 752
EX{E2 555 6| 300 320 of 118 861

= [ENE1 596 15 6| 300 320 of 1231] o1

;rxt- E5E2 665 15 6| 300 320 of 1308] o6

B |Z=naEs 737 15 6 300 320 ol 1,378 1,058
B384 806 15 6| 300 320 of 1441] 112
EIi&5 874 15 6 300 320 0| 1,515 1,195
EXIE 446 6| 600] a20[ 37| 1472] 1422
Ex{E2 555 6| 00| 420 70| 1581 1531

% |ETE 596 15 6 600 420 370| 1,637 1,587

i Eig2 665 15 6 600 420 370| 1,706 1,656

B |Z=naEs 737 15 6 600 420 370| 1,778 1,728
Erig4s 806 15 6 600 420 370| 1,847 1,797
EIi&S 874 15 6 600 420 370| 1,915 1,865

ﬁ EXiE 446 6| 1,000 820 370| 2,272 1,822
® EXiR2 555 6| 1,000 820 370| 2,381 1,931
g 'Ef ZEIriE 596 15 6| 1,000 820 370| 2,437 1,987
%ﬁ Efc: ENiE2 665 15 6| 1,000 820 370| 2,506| 2,056
K 5 B3 737 15 6] 1,000 820 370| 2578 2,128
i’ Eig4s 806 15 6| 1,000 820 370| 2,647 2,197
‘EE ZEIri&5 874 15 6/ 1,000 820 370| 2,715 2,265
EXIE 446 6| 1,300 820 370| 2572 2,122
EXiR2 555 6| 1,300 820 370| 2,681 2,231

%" B 596 15 6| 1300 820 70| 2737 2087

Ef‘: B2 665 15 6| 1,300 820 370| 2,806| 2,356

% /s 737 15 6] 1300 820 370| 2878 2,428
B4 806 15 6| 1300 820 70| 2047] 2497
ENiES 874 15 6| 1,300 820 370| 3015 2,565
EXIE1 446 6| 1,540 1,200 860I 3,192| 2852
EXiR2 555 6| 1,540 1,200 860I 3,301 2,961

= | BN HE 596 15 6| 1,540 1,200 860I 3357 3,017

;é ENiE2 665 15 6| 1,540 1,200 860I 3,426| 3,086

b | Z=rees 737 15 6| 1,540 1,200 860I 3498 3,158
ENiE4 806 15 6| 1,540 1,200 860I 3567| 3,227
ENiES 874 15 6| 1,540 1,200 860I 3,635 3,295
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EXE 892 12| 1,540 1,200 860] 3644 3,304
EXiE2 1,110 12| 1,540 1,200 860I 3,862| 3,522
ENhEE 1,192 30 12| 1,540 1,200 860I 3,974 3,634
EhE2 1,330 30 12| 1,540 1,200 860I 4112 3,772
EiE3 1,474 30 12| 1,540 1,200 860I 4,256 3,916
B4 1,612 30 12| 1,540 1,200 860I 4,394 4,054
B &S 1,748 30 12| 1,540 1,200 860I 4,530]  4,190]
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EXIE 1,338 18] 1,540 1,200 860] 4,096 3,756
EXiE2 1,665 18| 1,540 1,200 860I 4423 4,083
BN EE 1,788 45 18] 1,540 1,200 860I 4,591 4,251
ENiE2 1,995 45 18] 1,540 1,200 860I 4,798 4,458
E/EES 2,211 45 18] 1,540 1,200 860I 5014 4,674
ENiE4 2,418 45 18] 1,540 1,200 860I 5,221 4,881
BN &S 2,622 45 18] 1,540 1,200 860I 5,425 5,085




